SCHOOL OF

TECHNOLOGY

CONTEXTUAL - RELEVANT - EXPERIENTIAL

\

Z.oho Schools Entrance Test of Aptitude
(ZETA)

Time - 45 minutes Maximum Marks - 50
General Instructions:

1. Please write your name and School/College name on the answer sheet.
2 migem QUi wHmib uarefluflearCsmfan U soarfluier Quweny HlrliLieb.

2. Answer all the questions.

camsgrafler 2_drer oiamarsg CaetellaEna@n ellanwafldEse .

3. Do not write anything on the question paper.
Mermgsmefled eris e(mH @GMLenLwbd QaiuGeuemrmb.

4. Use blue/black ball pens to shade the OMR sheet.

Menggrener HlrliL &@mLL Sdg Beo Hip urd umlear Cuamenel LIwW6TLIHSS6LD.
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Part-1
(Each question carries 2 mark)

1. Which of the following images is next in the sequence?

QarpssiulHérer LLauflanguled, SIHSH uFssalyw LLsams, G sriiulHidrer efleng@mner (A to D),
Qurpsswrarens GCsie| Qawis.

L [Nollolel s3]
oV [V e g2

2. Introducing a girl, Murugan said, "Her mother is the only daughter of my mother-in-law".
How is Murugan related to that girl?

(P(HS6 eTamLeU 6@(h ueaTenemt iMl(psbd Cewiujb Cumg), "@eumenLw STy erang wrslwimfler oGy
et eremm SAMpsLLGSHeTy erafled, wpmaer Abs Quaranlin@ ebs wevpuld Cembgmeuny
ereT) SeT(hL g S&HeLb.

A) Brother B) Husband C) Uncle D) Father

3. If ‘green’ is called ‘white’, ‘white’ is called ‘yellow’, ‘yellow’ is called ‘blue’, ‘blue’ is

called ‘pink’ and ‘pink’ is called ‘black’, then what is the colour of sky?

A) Pink B) Blue C) Green D) White
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4. In the following figure of numbers, what will come in the place of?

Epsramid UL S S eramrser o ararer. "?" eramm GOUAL LU (HeTer @)L SEled 6THG erewT cu(HLDd GTamm)

ST &.
6/ \2 3 /N4 3,/\1
A /2 2 3 2N\/6
A) 21 B) 22 C) 25 D) 24

5. Which of the images from A to D is the odd one out?

Sparamib UL BISERET (A to D) erbg LIL D whpeneusamer el CeumLimLma o _eTerg?

A QG O Q& | O O A
O % A x| @ Al bk &

A B c D
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Part - 2

(Each question carries 3 marks)

6. The staff of a company decreased from 55 to 22. What was the percent decrease?

8.

9.

e Hneuasdd uamilyfluyn ueflureriseailen ecramamilsans, HbUSMSHSO MBS @) HLUSSH TewTLTdH
GDDHSS) GTaT6), L&&ET GanLiLder #5606 s5mes sHeurLhls.

If a dial clock is divided into 16 hrs instead of 12 hrs, which number would be directly
opposite ‘7°?

@m Lwe sgsmrsms 12 walCrrsdne udors 16 wallCrrwrsl Gfssred, <ibs 16 wafl Crir
siysny Lwedle , ‘7’ eren eresmanth@ CpierdlCr QmEE D ereim o1g)?

Find the least square number which is divisible by 3, 5, 6 and 9.
3,5, 6 wpmib 9 fu eramseTTed UELIL S W BIEFADIWL auiEs eTamTantmend &erLHls.

Evaluate: §ie snewrs: 3X7+4-6+3-7+45+5x4+49.

10. Peter the postman, had 560 letters to deliver. So far he has delivered of them. How many

letters has Peter still to deliver?
SULf erayub sumestyy, Qwrdsbd 560 Sysnsmar eNorssTisEssE UL (Heurm Qe

Qesmmigdpry. sHCumg Uy SeuflLd oder QrEssHe 6riiged Y UBIG SqshsamaT
Ul Geurm Qaiigiell L mQreied, Sieuflb WBeLb 2 érer &lq shisafler erament&ans eTemen?
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11.

12.

13.

14.

15.

Part-3
(Each question carries 5 marks)

A bag contains 15 white and some black balls. If the probability of drawing a black ball
from the bag is thrice that of drawing a white ball, find the number of black balls in the

bag.

The average marks of a student in the first two tests is 86 and the average in remaining

three tests is 96. Find the average score in all the five tests.

Father's age is equal to the sum of the ages of his five children. After 15 years, his age

will be only half of the sum of the children's ages. How old is the father?

Ramana added the lengths of three sides of a rectangle and got 44 cm. Vimala added the
lengths of three sides of the same rectangle and got 40 cm. What is the perimeter of the

rectangle?

A number, on subtracting 15 from it, reduces to its 80%. What is 400% of the number?
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